AP EAPCET 2021

Andhra Pradesh State Council of Higher

Education

Notations:
1.0ptions shown in green color and with #" icon are correct.

2.0ptions shown in red color and with #* icon are incorrect.

Question Paper Name: ENGINEERING 23rd Aug 2021 Shift 2
Duration: 180
Total Marks: 160
Display Marks: No
Calculator : None
Magnifying Glass Required? : No
Ruler Required? : No
Eraser Required? : No
Scratch Pad Required? : No
Rough Sketch/Notepad Required? : No
Protractor Required?: No
Show Watermark on Console? : Yes
Highlighter : No
Auto Save on Console? ( SA type of questions will
be always auto saved ) : ves
Is this Group for Examiner?: No
Mathematics

AP EAPCET 2021



AP EAPCET 2021

SectionId : 54473416
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 80

Section Marks : 80

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 1 Question Id : 544734801 Display Question Number : Yes Is Question
Mandatory : No

Define f:R = Rby f(x) =max{x+1,1-x,2} Thenf is
ER f(x) =0 (x +11- 22} f:R - R 60D o2 f Hdaspiaw

Options :

One — one but not onto
(SN 572 DofRd&an S7ED

Onto but not one — one
RodRB0 570 BAEI TG

Neither one — one nor onto
(S G VR S°ED

Both one — one and onto
e&:ﬁ&ﬁ;ﬁn, Ao Gotir® 9ok

Question Number : 2 Question Id : 544734802 Display Question Number : Yes Is Question
Mandatory : No
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The domain of the function defined by f(x) = FETT +Vx? —4is
=4
F() = o +Va% — 4 DRoasr D3 B9
Options :
1. % R

4. % ()

Question Number : 3 Question Id : 544734803 Display Question Number : Yes Is Question
Mandatory : No

The range of the function f(x) = — -\({5 —6x — x? is

f(x) = — /5 — 6x — x? HDoairdS gD V&?
Options :

3. % [2,]

4w 201
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Question Number : 4 Question Id : 544734804 Display Question Number : Yes Is Question
Mandatory : No

Zn+1 int+l

If ‘n’ 1s a positive integer. then 2 . 4 +3 1s divisible by

N’ w8 3D rTosd. 2.4°" + 37T 20 arAotsddd Doy O&?

Options :

Question Number : 5 Question Id : 544734805 Display Question Number : Yes Is Question
Mandatory : No
a+b a+2b a+3b

a+2b a+3b a+4b| 1s
a+4b a+5b a+6b

The value of the determinant

a+b a+2b a+3b

a+2b a+3b a+t+4b Sgdé;‘,}_}g}wa
a+4b a+5b a+6b

Options :

1.% @

2. % b
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4% 4 + b

Question Number : 6 Question Id : 544734806 Display Question Number : Yes Is Question
Mandatory : No

i % ¥ A 4
What are the values of (x,y, z, t) where 3 [ > ‘ = [ % ] + { 21 y] =7

z £ =1 2t ¥+t 3
¥l | 6 4 x+ty
3[:; t]—{q 2t‘+[z+t 3

Options :
, % (243,1)

wad, (x,7,2,t) £ ASrI0E?

, v (241,3)

o x (1,3,2,4)

. x (1,3,4,2)

Question Number : 7 Question Id : 544734807 Display Question Number : Yes Is Question

Mandatory : No
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X +2% +3x-2 P +2x+4
If B 9r1 P2 b hy? =ax® +bhr ot +d’ ex* Hfxt g,
thena4+b+ct+d+e+f=

LAt 43-2 4244
Bzl -2x—-1 3 -2t t4x-2

o, atbtctdtetf=

=axS+bx® +ext +did+exl +fxtyg

Options:
1 % 23

2.v 25

. % 21

4 % 20

Question Number : 8 Question Id : 544734808 Display Question Number : Yes Is Question
Mandatory : No

|- Let Y bea2 X 2 real matrix satisfying the condition XY = YX. Then the

1
LetX = [1 )

smallest possible value of det(Y) is

1 1
AT6EY eIV SR Do Bog)|

1 =1
Xz‘ ]mﬁoinXYzYXwojjisw:ﬁﬁhSZx2;1"@;5&3‘@;5@01}&1’0&1}5&

Options :

1.v 0

2. % —2
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Question Number : 9 Question Id : 544734809 Display Question Number : Yes Is Question

Mandatory : No

IfA(6) =

. .o |15 a matrix where { = v—1, then which of the following is not true
cosfl isind :

isinf cusﬁ] :

isinf cosf
cosf isinf

i =vV-1,00nd A[E‘):[ ]as g eomd . & S0 TS DO Dz T

Options:
- detA(m + ) = det A(—6)

, » detA(—6) = det A(6)
, o det[A@] =1

4 % detA(—8) = -1

Question Number : 10 Question Id : 544734810 Display Question Number : Yes Is Question
Mandatory : No
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If Z;, Z, are conjugate complex numbers. Match the items under the following columns?

Z4, Z @0 Roodurf] "fooég RoRaNS . S0 T ALV SEHVE"R DREHAVLR BSHEH0G?

Column-I Column-II
wdn-1 S8R-11
) %% (a) imaginary axis (S%i’a £98.30)
(ii) 2z, +2, =0 (b) Iy (=22)
(iif) I (21) © |zl
(iv) Re(z,) (d) Rez

Options :
, x (=0 (i —a) (iii — d) (iv—b)

5, » (A—c)(i—a)(iii—b) (iv—d)
5 » (—a)(ii—b) (i —d) (iv—rc)

, (—b)(i—d)(iii—c) (iv—a)

Question Number : 11 Question Id : 544734811 Display Question Number : Yes Is Question
Mandatory : No

Let w = cis (%ﬁ) = cos ( 2?;1) + isin(%n) and f(x) = x” — 2x* — 4x* + 8. Which of the
following option is correct?

@ = cis (23—H) = cos(?)-l—isin(%n) 800 f(x) = x7 - 2x* — 4x° + 8 wawd. &
Sod a3’ DB daan?

Options :
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11 2
{ 22.2%. a,2 w } is a subset of the solution set of f(x).

1 1 1
{2”5, 2% w,2%w } f(x) @0g) Fe HDSE &HODS
1. #®

1 t 3 1
{ 25 B3 PR 2% } is a subset of the solution set of f(x).

A | 1
,—23 2342 2% } F(x) G0, FED DDA EHHWS

#
i ——
]
Mll—"

- 11
{ 33.92.. 5793 mz} is not a subset of the solution set of f(x).

i 4 E
{ 23 2% - 9% szz}. f(x) Bg), FGD DSBS &DHDS TG
W

11 1
{ 23 8350, ZTi, —22 ] 1s a subset of the solution set of f(x).

 f(x) dB0g), FGD DABE EDRS

D
4
fﬁ"‘-ﬂ\
ra
f..lJl ==
]
|
o
| ]
bodf
.-'."’"
|
]
N-l [
R

Question Number : 12 Question Id : 544734812 Display Question Number : Yes Is Question
Mandatory : No

Ifcosa+ 3cos3f +5cos5y =0. sina+ 3sin3f 4 5sinby = 0 and cos 3a +
27 cos9f + 125 cos 15y = (32 — 4) cos(a + 38 + 5). then A =

cosa +3cos3f +5cos5y =0, sina + 3sin3f + 5sin5y = 0 Lododw cos3a +
27 cos 9 + 125 cos 15y = (1° — 4) cos(a + 36 + 5y) wond A =

Options :
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Question Number : 13 Question Id : 544734813 Display Question Number : Yes Is Question
Mandatory : No

(EE1P 2241
+

The number of real roots of the equation =0(x+0)is

x3 3x

(x2+1)*  x%+1
: +

x +:0 o

= 0 RDSGETIS SrTrUS’ TS SPTR Roay

Options :

1.% 1

Question Number : 14 Question Id : 544734814 Display Question Number : Yes Is Question
Mandatory : No
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Ifa,B,y, 6 are zeroes of the polynomial equation x* — 3x% + 6x — 12 = 0 then the value of
atfty atdty atf+d G+f4y
+ + t =
52 p2 y2 a?

atf+y atdty
52+52

xt = 3x% 61— 12 = 0 20E63 @, B,y, 6 o Aarereand

a+ﬁ+6_F6+ﬁ+y

Y2 a

Options :

1

Question Number : 15 Question Id : 544734815 Display Question Number : Yes Is Question

Mandatory : No

If one of the roots of the equation r 4 p x 4 ¢ = 015 equal to the square of the other then
x* +px+q =0 2asonos’ 18 Surerdd, Gotsd 36208,

Options :

ke P@=3p)=ql-1

L« PBr—a)=p@+D
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3. % p(3¢g—p°)=q(g—1)

, o PBa-P)=a@+D)

Question Number : 16 Question Id : 544734816 Display Question Number : Yes Is Question
Mandatory : No

The number of words which can be made out of the letters of the word ‘MOBILE’ when

consonants occupy odd places 1s

Peoen 65 FR300S” Gokidr MOBILE' €3 H6:306") 0562008 33) Hwes
ST ESADVE?

Options :
1 % 20

36

5 % 30

4 % 720

Question Number : 17 Question Id : 544734817 Display Question Number : Yes Is Question
Mandatory : No

The number of distinct positive integers can be formed using 0, 1, 2, 3 where each integer

used at most onee is equal to

0. 1. 2 3 ;‘ooaaém DT S0 Sl ;)D:l Dej):;l cﬁéf.gyg"osanm ﬁdbciwcm'?
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Options :
1, % 84

, x 64

3.v 18

4. % 30

Question Number : 18 Question Id : 544734818 Display Question Number : Yes Is Question
Mandatory : No

A set of 10 parallel lnes is intersected by another set of m parallel lines. If the total number of

parallelograms formed by these two sets of lines is 675. Thenm =

m Wareshd Bw 88 10 DhaTodd Sws modoaé@bda n%a DaTothd
mmmaamm ‘&30335 675 ®ondm =

Options :

5 % 10

3 & 12

Question Number : 19 Question Id : 544734819 Display Question Number : Yes Is Question
Mandatory : No
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1 A B

If , = + then A+ B =
(3—5x)(2+3x) 3-5x 243x

1 A 5 B
(3—-5x)(2+3x) 3-5x 2+3x

oo A+ B =

Options :
7

| % 19

10

Question Number : 20 Question Id : 544734820 Display Question Number : Yes Is Question
Mandatory : No

Determine the value of ‘a” in tan 70° — tan 20° = a .tan 50° ?

tan 70° — tan 20° = a . tan 50° e200® a Lewd dod?

Options :

1% —4
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Question Number : 21 Question Id : 544734821 Display Question Number : Yes Is Question
Mandatory : No

sin? 5° + sin? 10° + sin” 15° + --- + sin® 90° =
Options :

i B
o
¥

Question Number : 22 Question Id : 544734822 Display Question Number : Yes Is Question
Mandatory : No
9

tan? a

Minimum value of 5 tan® a + + 4sec? ais

Stan? a + + 4secta a3oe), 53‘?’.& Desd

tan? a

Options :
1. % 24

22
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3 x 32

4 % 28

Question Number : 23 Question Id : 544734823 Display Question Number : Yes Is Question
Mandatory : No

Solve the following equation sinx 4+ V3 cosx = /2

sinx + V3cosx =2 ﬁhbJSdi.';“:)‘l FBodel
Options:

mw ™
x=2nmt+—+—
1. & 6 4

T T
¥ =2 —_ 4 —
X 'rm—l-ﬁ 3

mw T
x=2nr+—+—
4. % 6 2

Question Number : 24 Question Id : 544734824 Display Question Number : Yes Is Question
Mandatory : No

If Sec_lg— Sec~1 2

5 = Sec ! bhSec la, then x =

Sec‘lé— Sec"1% = Sec 1 hSecla, eond x =

Options :
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Question Number : 25 Question Id

Mandatory : No

AP EAPCET 2021

: 544734825 Display Question Number : Yes Is Question

R . (SR ; | C
16 RsA 51?:1?5111—4:05—

2

In triangle ABC,

s—cC

1s equal to

.4 . B (i
16 RsA sin ~ Sin—-cos—

2 2

Sz ABC &°.

D DATDHIA

S—C

Options :
rir;
I
1% 03
Ty.T5.T
5 % 1-T2-13
3 % 1‘"1+1‘"2+T3
4'\;/‘:1'711'3“2?“3

Question Number : 26 Question Id

: 544734826 Display Question Number : Yes Is Question
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Mandatory : No

Let ABCDEF be a regular hexagon with the vertices 4, B, C, D, E, F counter clockwise. If ‘0’
is the center of ABCDEF. then the vector A0 is to parallel/equal

A,B,C,D,E F d&%e0 “@;55&%&36 %’g;.‘mwn" fo g ﬁd&aa ABCDEF. ABCDEF i),

S0 0" eawd A0 16 ang) 636" God 06

Options :

—

1.v FE

cD

Question Number : 27 Question Id : 544734827 Display Question Number : Yes Is Question
Mandatory : No

Let A, B, C be three points on a circle of radius R. if O 1s the centre of the circle and AOB =
45° BOC = 45° then the resultant of ﬁi,ﬁ and OC has magnitude

0 Bog 30, R TREAvTaT (o 5,850 I Dochien 4,8, C e $Bat A0B =
45°,B0C = 45° &t 04, 0B , 0C 598 6% H8:rmiw

Options:

.« 2R

, v (VZ+1)R
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5« 2V2R

4% 42R

Question Number : 28 Question Id : 544734828 Display Question Number : Yes Is Question
Mandatory : No

The figure formed by the four points (1 + j — k), (27 +37),(5] - 2k) and (k- ) is
(47 -%), (21 +37).(5] —2k) sdotw (k- j) Dotoyod Doyd Dgesw

Options:
Trapezinum
RLVoR tdotoyeo

Rectangle
ég InTx BTor o1

Parallelogram
RATeSE Bdudoy20

Quadrilateral
DAENR

Question Number : 29 Question Id : 544734829 Display Question Number : Yes Is Question
Mandatory : No
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Letd =142 i If B is a vector in XY plane such that (E ¥ E) B =15ad4 .B =6.

then ' B | 15

A=T+27 ag0bs XY duiws’ B ©3%6% (A +B).B =15 20a04 .B =6
ecbienod. | B | Dewsd Jos?

Options :

1.% 6

Question Number : 30 Question Id : 544734830 Display Question Number : Yes Is Question
Mandatory : No

The area of the parallelogram for which the vectors i + j 4 2k and 3i — 2j + k are adjacent

sides 1s equal to

P+ )+ 2k 200030 3 — 2/ + k 69 2030 8RR 2230000 (L Dredd PR
DTV

Options :

- 345

53

2. %

3% 2V5
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4 % 5V6

Question Number : 31 Question Id : 544734831 Display Question Number : Yes Is Question
Mandatory : No

-

— — —

Leta,b,c be unit vectors such that@’.h = 0 =@ .T and the acute angle between b and ©
T 3

LS?&IEH [@xb-axc|=

—

—_ — — T
a,b,c crdSadswa.h =0=a.c &b ,c v 206 ?mm; eakjer Gold
i@ [ xb —a xc|=
Options :

1.«'/1

1
2. % 2

Question Number : 32 Question Id : 544734832 Display Question Number : Yes Is Question
Mandatory : No

The plane passing through (2, 1, —3) and perpendicular to 3i — j 4+ 2k contains the points

(2,1,-3) ot T 3i — j + 2k 2HID VLAV ol BVIN) Gol DoBPeD

Options :
1. #®

AP EAPCET 2021
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(1,5,1) & (3,0,-5)

L x 5D &GO

Question Number : 33 Question Id : 544734833 Display Question Number : Yes Is Question

Mandatory : No

— —

Letu and v’ are unit vectors such that u”. v = 0. If " 1s any vector coplanar with u and v

A

then the magnitude of the vector 7" X (4 X 7') i3

—

u.v :Uwﬁéwﬁ,ﬁwaﬁaﬁéwmﬁm U, 7 030G T ed 26% Gotl
OO T X (U XV) =
Options :

1.“*“"3{:l

Question Number : 34 Question Id : 544734834 Display Question Number : Yes Is Question
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Mandatory : No

The mean of the numbers a, b, 8,5,10 15 6 and the variance 1s 6.80. then the possible values of
a and b are

a,b, 8,510 RoP[R VSR b Sodakw QR3 6.80 0 a, b © dewdew

Options :

| % =2 .b=3
5 % i =4.H=5
3 % gt e 3
4#::1:3.}):4

Question Number : 35 Question Id : 544734835 Display Question Number : Yes Is Question
Mandatory : No

In a distribution of 10 observation. the sum of the observations is 60 and sum of their squares 1s

1000. then the variance 1s

28 Dioome” 10 28300 2082 60 30800 T ST 2w 1000 Bod MY Jod?

Options:

1.% 8
2. v 64

5 % 32

4. % 40
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Question Number : 36 Question Id : 544734836 Display Question Number : Yes Is Question

Mandatory : No

2 aero planes [ and IT bond a target in succession. The probabilities of [ and I scoring a hit
correctly 1s 0.3 and 0.2 respectively. The second plane will bomb only if first misses the target.

The probability that the target is hit by the 2™ plane is

[, 1 ddraren w5er 36578 288 UFR) 20\ErdS paber) e S aw. 1, [T oy
2Ty Dogrfd SO 03, 0.2. OF() DO008" [ DD00dS 187, 1T awsg),
FML) rooe,miga

Options :
1 = 0.06
> » 0.14

3 v 0.32

4 % 0.7

Question Number : 37 Question Id : 544734837 Display Question Number : Yes Is Question

Mandatory : No

e s & s :
The probability for a contractor to get a road contract 1s Fl and to get a building contract 1s P

if the probability to get both the contract 1s = then what 1s the probability to get neither of

these two contracts?

2 9
w8 Sl o] 0 STotPL) Jidy Rorad ~ 08050 ﬁgoﬁ SorS) iy Rogradfd .

1
0060 SPolPEIR) S0y o 5 0NS Tot) STolPLID T°Y) Rora(d Jod?
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Options :

Question Number : 38 Question Id : 544734838 Display Question Number : Yes Is Question
Mandatory : No

1 1 1
Let A and B be events with P(4) = o P(B) = U and P(AUB) = - Then which of the

following statement is mcorrect?

1 i 1
A H08aiw B 95 otdud P(4) =7 P(B) T Sodaiw P(AUB) =T & $0d
DBFEHVG” DB A 57

Options :

A and B are imndependent
, A 000t B a0 R(Ped 0000

1
. P(A/B) =—

1
P(A‘NB) =—
3.V 3
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P(AnBY =

e |

Question Number : 39 Question Id : 544734839 Display Question Number : Yes Is Question
Mandatory : No

1 : : :
If the mean of a Poisson distribution 13 P then the ration P(X = 1) : P(X = 2) 1

1
28 FONAD D6RG" 20632020 7 0ad, P(X = 1) : P(X = 2) ohog) Ainyd dodh?

Options :
1.2 1:2

Question Number : 40 Question Id : 544734840 Display Question Number : Yes Is Question
Mandatory : No

X
A random variable X takes values 0,1, 2,3, ... ... with probability P(X = x) = K(x + 1) (%)

where K 1s constant. then P(X = 0) 1s

&.
28 iy woud X={0,1,2,3,..... } 3060 P(X = 1) = K(x + 1) (%) K %
R08)] AN P(X=0)

Options :

1. %

AP EAPCET 2021
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18
25

2. %
16

3.v 25

13
4% 25

Question Number : 41 Question Id : 544734841 Display Question Number : Yes Is Question
Mandatory : No

Given points A(6,0). B(0,4) and 0 as the origin. find the locus of a point P such that area of

triangle POB is 2 times the area of triangle POA.

A(6,0). B(0,4) 20Boso 0 Sareociod) wons. POB gz T POA §5al)
270(08 0ot G0l Desorr 38otd P Docioid) Dotide RRLSBESY

Options :
1 % x2—3y2=0

. ¥ Byt=0
3 ¥ 1.2_9}12:
4 % 12—4}?2:[}
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Question Number : 42 Question Id : 544734842 Display Question Number : Yes Is Question
Mandatory : No
If a square ABCD where A(0,0),B(2,0),€(2,2),D(0,2) undergoes the following

transformations successively. then the final figure would be a

Dfic3) — 003 @) fuley) — G+ 332); ) fsley) —

x-y x+y)
7 7 g

A(0,0),B(2,0),€(2,2),D(0,2) Docosnoid Igevr i ABCD S80650 S0
S8, BOD DOIGTTLD Do, Ared I(I0E" ABCD 5 6in us

- 7 x+y)

D) — 05 @) A1) — (4305 @) Aoy — (525

Options :
Square
(ATEN TS Pub b

Rhombus
mmmmammﬁm

Rectangle
&gp@aﬁ@;ﬁm

Parallelogram
maro@dﬁmdoga&m}

Question Number : 43 Question Id : 544734843 Display Question Number : Yes Is Question
Mandatory : No
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The perpendicular bisector of line segment joining the points P(1,4) and Q(k , 3) has y-

mtercept ‘—4". Then a possible value of ‘k” among the following 1s

P(1,4) 080w Q(k,3) Doconva $82 Bar woaw COE), VoIS B
W), y-Lodtdotdn ‘4’ ©owd, b k' & 5“::,’:5:1303:5 V)

Options :

1. % :

2.33
3. v —4

4 % —1

Question Number : 44 Question Id : 544734844 Display Question Number : Yes Is Question
Mandatory : No

The distance between the lines 3x + 4y =9 and 6x + 8y = 151s

3x + 4y = 9 obasw 6x + 8y = 15 e stlaiglab ety

Options:
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Question Number : 45 Question Id : 544734845 Display Question Number : Yes Is Question
Mandatory : No

The angle between the straight lines 3x + 4y +9=0and x -7y — 22 =01s

3x 44y +9 = 0 S0Bato x — 7y — 22 = 0 26¥80 J0¢5] S

Options :
T
1.v %
T
2.% 6
T
3. % 3
T
4, % 8

Question Number : 46 Question Id : 544734846 Display Question Number : Yes Is Question
Mandatory : No

The equation of the lines through the point (3,2) which makes an angle of 45° with the line

I—2y =3 me

x — 2y = 3 B8 45° Emado Br (3,2) Do) ot Ve G ST

Options :

1 ¢ Ix—=y=7T & x+3yv =9
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5 % ¥— 3y =7 & 3x+3y=9

. == F 8 By =2

4 % 2x+y=7 & x—2y=9

Question Number : 47 Question Id : 544734847 Display Question Number : Yes Is Question
Mandatory : No

If § is the angle between the lines x® + 2hxy + by?® = 0 then the angle between

Xt +2xysecd +y2 =01is

x% + 2hxy + by* = 0 2ardodd S0 6 E0:3w 0 ad x° + 2xysecld + y* = 0 Saw
Sock] €m0

Options:

1.\/3

Question Number : 48 Question Id : 544734848 Display Question Number : Yes Is Question
Mandatory : No
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If the pairs of straight lines x2 — 2pxy — y? = 0 and x2 — 2qxy — y? = 0 be such that each

pair bisects the angle between the other pair. then

x2 = 2pxy —y? =0 S08a0 x? — 2qxy —y2 =0 darasomeo 288 S8'S Saaknr) 206
STrQ) RABDOER BRLLIT &otl ey

Options:

1.x PA=1
, » Pa=—1
3.% P4=2
4 % PI=—2

Question Number : 49 Question Id : 544734849 Display Question Number : Yes Is Question
Mandatory : No

If the equation 8x? + 8xy + 2y% + 26x + 13y + 15 = 0 represents a pair of parallel straight
lines then the distance between them 1s

82 + Bxy + 27 + 26x + 13y + 15 = 0 22080 Ardodd DAT0SS S0 06
7630

Options :
2
pw V5

7
5 v 25
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Gl

@l ~

4, #

Question Number : 50 Question Id : 544734850 Display Question Number : Yes Is Question
Mandatory : No

The area of the triangle formed by the line x + v = 4 and angular bisectors of the pair of lines
-yt 4+2y—-1=0is sq.umts

2-y242y-1=0 28GR Ardod G0 %ﬁnﬁmﬁsa)ocié Goud x+y =408
20,00 SF0BY DTV £3636:Y) L

Options :

1.339

4.5

1.5

Question Number : 51 Question Id : 544734851 Display Question Number : Yes Is Question
Mandatory : No

The circle x® + y* + 4x — 4y + 4 = 0 touches

X2 4y 4 dx — 4y +4 = 0 20Doid 2330 & $08 TOHS BID D30 6

Options:
AP EAPCET 2021
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x-axis only

| % X-e9£.200 ArredD

y-axis only
V-29£.3500 SIrda

x-axis and v-axis

v X-e95.000 0003 y-e9580
3. i

X =y D S Socghao

Question Number : 52 Question Id : 544734852 Display Question Number : Yes Is Question
Mandatory : No

Given three collinear points A(3,1). B(7,-1) and C(5,0). The length of a tangent drawn

from A to any circle that passes through B and C 15 units.

A(3,1). B(7,-1) &badw €(5,0) Docoapen 268asren. LoD, B 805w C DotV
(Dol 'ad DB 2ZE 4 Aod. Aivd 6w T GV

Options :
| % 2V10
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Question Number : 53 Question Id : 544734853 Display Question Number : Yes Is Question
Mandatory : No

Suppose a circle passes through (2,2) and (9,9) and touches the x-axis at P. If 0 1s the origin,
then OP is equal to

28 Sy (2,2) Hodatw (9,9) Dotape) oot T x-@ED‘l P ::cg ‘rba%@él&. 0
redotided) Lo 0P
Options :

1.334

Question Number : 54 Question Id : 544734854 Display Question Number : Yes Is Question
Mandatory : No

The radius of a circle whose center lies in the fourth quadrant and touches each of the three
linesx =0.y=0and3x +4y—-12=0.15 uits.

¥ =0.y =0 208a3w 3x + 4y — 12 = 0 26,3208 2y,30r T05 FdedS” Somrd)
$OAD Sydan dhog) 35&3m LD,

Options :

AP EAPCET 2021



AP EAPCET 2021

Question Number : 55 Question Id : 544734855 Display Question Number : Yes Is Question
Mandatory : No

Choose the correct option regarding the following statements:

Statement-1 : The length of common chord of the circles x* + y? + ax + by + ¢ = 0 and

/(a+b)*-8
24 yi 4 bx +ay+c=0equals Ll

Statement-2 : If two circles intersect at two distinet pomnts. then their radical axis is their
common chord.

S0b DIBTR 1aBow) ABALAD 2T7eD BLDok:
Dd9da-1: ¥ +y? +ax + by + ¢ =0 dasw x* + y2 +hx +ay + ¢ = 0 o

Ja+b)?-8¢

&) TEH >

DOIAW-2 : Botd D) DoMPHVS’ PokoBD JTV WL &8 HT'© &) C
&y £9:0)3008.

Options :

Both statements are true and Statement-2 1s a correct explanation for Statement-1.
Gt HOBTreL DBADAD B0 DIBNe-2 DHBo-1 S PBADR V.

Both statements are true but Statement-2 1s not a correct explanation for Statement-1.
B0t DIdTren PBALAD 50 DIBP0-2 HIBHo-1 & PBODD DSGEs T

Statement-1 1s true. Statement-2 1s false.
2IDDo-1 VBTDAA. =5 2d0-2 2 5T.
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Statement-1 1s false. Statement-2 is true.
4 2:900-2 DOADIG. 3 2edtddo-1 DO s°C.

Question Number : 56 Question Id : 544734856 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of a circle which cuts the circle x% + v — 6x + 4y — 3 = 0 orthogonally.
while passing through (3, 0) and touching the y-axis.

V- D3R, (3,0) Dodo ot e, 12 +y? —6x +4y -3 =0 )
VORI Pot.otd BN TOE) AT

Options :

X2+ y?+6x+6y+9=0

1. %

, X2+ yZ—6x—6y+9=0

2.
i = =
3 % X +y 6x +6y—9=10
s s P < -, —
4 % X oyt br— 0y —9=0

Question Number : 57 Question Id : 544734857 Display Question Number : Yes Is Question
Mandatory : No

If the point (a, 2a) is an interior point of the region bounded by the parabola y* = 16x and

the double ordinate through focus, then

(a,2a) ©3 Dot y2 = 16x Hrdeohaw 8050 ol T8 Mot J'dd ws ad
5038 (8¢ y — ArDEw) 2065 BdBAaly DO Got, YYD

Options:
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Question Number : 58 Question Id : 544734858 Display Question Number : Yes Is Question
Mandatory : No

In a hyperbola. if the length of transverse axis 1s twice that of the conjugate axis. then the
distance between its directrices is

units.

¢ BBITHVADES” BE(E LY TEY, RDookur) WY TEPD 080y Bowd, &
RohHEde D] Erdam O3 RD.
Options :
8b

v V5
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Question Number : 59 Question Id : 544734859 Display Question Number : Yes Is Question
Mandatory : No

If a line makes angles 90°. 135° and 45° with the positive x. y and z axes respectively. then
its direction cosines are

28 B2 x. y 2080k z B ¢ B3 ST 90°, 135°, 45° Srrodd 52, & 6 65
& 8000 Sen)aw.

Options:
1
(0.—

1
i
1 % i 2

__|‘_3L

g

(0,

N

)\
-
]
-
]

=

wal
eall ™
=
mrl g

N
®
<
(%]
=
Mll -

Question Number : 60 Question Id : 544734860 Display Question Number : Yes Is Question
Mandatory : No

If the line joining A(4,1,2 ) and B(0,k, 1) is perpendicular to the line joining
C(-2,1,1)andD(4,2,5). then the value of k =

A(4,1,2) 20000 B(0,k,1) wdo ¢80 %69 62 C(—2,1,1) 200080 D(4,2,5) &
€92 DOV BDL wotlom &old, k Dend

Options :
1
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3 % —F1
4 2

Question Number : 61 Question Id : 544734861 Display Question Number : Yes Is Question
Mandatory : No

Find the equation of the plane which passes through the points (0,1,2) and (-1,0,3). and is
perpendicular to the plane 2x + 3y +z =15.

(0,1,2) S08atn (—1,0,3) Docoadyw oot Jdr. 2x + 3y +2 = 5 $erd8 wotolT &ol
B30 2DEFHAY

Options :
3r—4y+18z +32 =10

1. %

5> % 3x+4y—18z+32 =0

3 % 4x+3y—z+1=0

4 dx -3y +z+1=0

Question Number : 62 Question Id : 544734862 Display Question Number : Yes Is Question
Mandatory : No
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If the function f(x). defined below. is continuous everywhere. then k" equals
S0 AWoDED f(x) PR00DHAW B9) 1 DDV OIS, kTS
2¥ -1
f)= ViHx -1
k . B

—1<x<w

Options :
- log, 2
—log
1. % z X

5 o log, 4

- log, 8

4% log, 2

Question Number : 63 Question Id : 544734863 Display Question Number : Yes Is Question

Mandatory : No

tan(x) + 4 tan(2x) — 3 tan(3x) B

lim :
x—0 x? tan(x)
Options :
1. % &
2. ¥ —8
4 —16
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Question Number : 64 Question Id : 544734864 Display Question Number : Yes Is Question
Mandatory : No

. 8 ) x? x? %2 %2
lim —5{ 1 - cos 3 — cos g +cos|— | cos{—-])=

Options :
1

4

1. #

Question Number : 65 Question Id : 544734865 Display Question Number : Yes Is Question
Mandatory : No

dy
If v =1log, x.then — =

dy
y = log, x ®00d, — =
: By dx
Options :
1
u xlogy

AP EAPCET 2021



AP EAPCET 2021

logy
x (1 +logy)

i §
x (1 +logv)

3.

Question Number : 66 Question Id : 544734866 Display Question Number : Yes Is Question
Mandatory : No

. . d
If x = alcosf + log(tan(6/2))] and v = a siné. theu—_y =

dx

dy
dx

x = afcos @ + log(tan(6/2))] Sododw y = asin b wond.

Options :

1 % cotf
5 tan &

sin @

cos A

Question Number : 67 Question Id : 544734867 Display Question Number : Yes Is Question
Mandatory : No
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| d
If v =4cos®(t)and x = 4sin3(¢). thend—y =
A

- . d
v = 4 cos®(t) Hdasw x = 4sin’(t) ewawd. d_y =
X

Options :

L% tan(t)

tan(t)

— cot(t)

4 % cot(t)

Question Number : 68 Question Id : 544734868 Display Question Number : Yes Is Question
Mandatory : No

It fix)= log};z{:log x).then f'(x) at x = e is
Fhry= iogle[:iog X) ®ond. x —¢ 56 )=

Options :

1.*0
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Question Number : 69 Question Id : 544734869 Display Question Number : Yes Is Question
Mandatory : No

The volume of a spherical ball is increasing at a rate of 4 cm®. s 71, The rate at which its

radius increases. when its volume is 288w em?. is em.s L,

28 Forse02) o8 0D8ITHA0 47 om® DEHE ﬁ”@ba 20DHeR. &3 od
20308es 2887 cm® I T .'.r"vgf':'f"g;fm 200 Bew em.s

Options :
1

« 6

Question Number : 70 Question Id : 544734870 Display Question Number : Yes Is Question
Mandatory : No

If Sin~*(a) is the acute angle between the curves x* 4 y* = 4x and x* + y* = 8 at the point
(2,2).thena =

(2,2) Dot 3¢ ¥ + y7 = 4x 20000 1% +y? = B S50 068§ o 0o

Sin~(a) eond. a =

Options :
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Question Number : 71 Question Id : 544734871 Display Question Number : Yes Is Question
Mandatory : No

Find the coordinates of a point on the curve y

x% — 3x + 2, at which the tangent drawn to
this curve 1s perpendicular to the line y = x,

y =% =31 +2 5830 D O Dot 3 A 20138 ¥ = x POVEDLD oworT Gocdsiy?

Options :

Question Number : 72 Question Id : 544734872 Display Question Number : Yes Is Question
Mandatory : No
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If the area of a circular sector of perimeter 60 m 1s to be maximized. then its radius must be

m

60 m © ten§ud SBAD 2.8 EH DTV (B0 IS D 35&2313 mir
G0GaTAD.

Options :
1 % 20

2.v 15

3 % 10

Question Number : 73 Question Id : 544734873 Display Question Number : Yes Is Question

Mandatory : No
If the function f(x) = ax® + ba® + 26x — 24 satisfies the conditions of Rolle’s theorem in

[2,4] and ' (3 +%) = (. then the value of ab =
J

[2, 4] eocdtods” pdoaaw f(x) = ax® + hx? 4 26x — 24 89 ?a{g“ou‘*:)i oSN,

; 1) _ _
08080 f (3+ﬁ)—ﬂwwa.ab—

Options:
1.¢ =9
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Question Number : 74 Question Id : 544734874 Display Question Number : Yes Is Question
Mandatory : No

J (1 — cosx)cosec?x dx =
Options:

X
tan|— |+ ¢
2

1.4
X
—tanl|l— )+ ¢
- 2

a0
2 tan (—) +c
% 2

X
—2tan|— |+ ¢
® 2

2.

3.

4.

Question Number : 75 Question Id : 544734875 Display Question Number : Yes Is Question

Mandatory : No

—1
Find the value of k if " cos®(x) sin(x) dx = Tmsd*(.‘r:} FiE

of

—1
J’ cos®(x) sin(x) dx = TCDS4(I} + ¢ oo, k =

Options:

AP EAPCET 2021



AP EAPCET 2021

Question Number : 76 Question Id : 544734876 Display Question Number : Yes Is Question
Mandatory : No

If f'(x) =tan®(x) + cot®(x) and f (%) = 0. then f(x) =

f'(x) = tan(x) + cot?(x) HoBotn f(%) =0 eowd, f(x) =
Options:

T
tan(x) — cot(x) —x + T

. _ T
tan(x) — cot(x) — 2x + o

2. ¥
_ i
tan(x) + cot(x) — 2x + —
3. % -

o T
sec(x) — cosec(x) — 2x + —=
4. % -

Question Number : 77 Question Id : 544734877 Display Question Number : Yes Is Question
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Mandatory : No

"sinx —cosx
—— dx =
y/sin 2x
Options :
_— —log |si111‘— COS X +xfs'1112x| + €
- —log |sin x + cos x — Vsin 2x| +c
—log |si11:r: + cos x + +/sin 2x| =
3.¢
4% —log Isinx — cosx — vsin 2x| 4

Question Number : 78 Question Id : 544734878 Display Question Number : Yes Is Question
Mandatory : No

1/e

1
——dx =
f x(log .r)”g

2/e

Options :

%{1 + (log(2) — 1)*?}

1. %
) % 1

- ; 3/2
3 % — {11+ (log(2) + D™}
4.9
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% {1 - (log(2) — 1*/*}

Question Number : 79 Question Id : 544734879 Display Question Number : Yes Is Question

Mandatory : No
The area enclosed by the curves y = x x| .x =—landx =115 5. umits.

y=x|x|.x=-1280x =155 206 EE;}&P_?QJ@B DB DTV
5662 QHrIED.

Options :
3

.

Question Number : 80 Question Id : 544734880 Display Question Number : Yes Is Question
Mandatory : No
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Find the particular solution of the following differential equation, given that y = 1 when x = 0.

(e = PG

dx
X = 0 QY@ ¥ = 1 wond, 808 03%0R PE6HAW awos) Qéﬁ FG BUAW.
dy m(Tan_1 (_x))

g e
LFE |5 = 8 -y
(142) - )
Options :
gt O Tan *(x) + 1
1. %
=L r -
xe®™ & _Tan1(x) -1
2. %
=%
e &) — Tan1(x) + 1
3. v
=X
Vi aa @ = Tan(x) — 1
4, #
Physics
Section Id : 54473417
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:
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Question Number : 81 Question Id : 544734881 Display Question Number : Yes Is Question
Mandatory : No

Sir C.V. Raman got the Nobel prize in physics for his work on
FAE TS B F60 26 2.D.0°IL SHS TV SDyoB?

Options :

Reflection of light
S0 U0

Refraction of light
| TRod HEBD33A0

Scattering of light
SPod DO

Dispersion of light
SPo DEDESA0

Question Number : 82 Question Id : 544734882 Display Question Number : Yes Is Question
Mandatory : No

The volume of a liquid 1s proportional to . given its density p, viscosity 1 and t the time of flow

through a capillary tube of length L and radius R, with a pressure difference P across its ends

T L, g B, 630 36 bad fiw P 40 508 Mo foor 3ireid ¢330 Fosd
p. )08 1 $0805) A £, & B34 AHOSTBAY B LS DI’ Gocoity?

Options :
PZR?t
ox Tk
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PR*
nLt

PR*t

3.¢

P2R*t
nL?

Question Number : 83 Question Id : 544734883 Display Question Number : Yes Is Question

Mandatory : No
If a 100 m long train needs 7.2 seconds to cross an object moving in a direction opposite to the

tramn’s direction with a speed of 5 kmph. then find the velocity of the train
100 b.)t.)g T o gen, 5 kmph dddnd ;‘359353-33 &3° DRV SR 7.2 sec 3133

widold. 92yt B Sridw

Options :

- 40 kmph

. 25 kmph

3 ¥ 45 kmph

4 % 20 kmph
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Question Number : 84 Question Id : 544734884 Display Question Number : Yes Is Question
Mandatory : No

— — :
For the resultant of two vectors 4 and B to maximum. the angle between them should be

A 208050 B 2680 H0S 268 H8arHR0 (18330 OGS A, Bo 206§ Gotdudd S

Options :
180°

1. %

2.9 0°

5 % 90°

4, % o

Question Number : 85 Question Id : 544734885 Display Question Number : Yes Is Question
Mandatory : No

A small sphere 15 hung by a string fixed to a wall as shown in the figure,
The sphere 1s pushed from the wall by a stick. The forces acting on the

sphere are as shown. Then. identify the incorrect expression.

w8 D) fiviw Féd DR Erdod Jerddabudod. us S68
Ao FEoed drdor Sohadds. Hisme’ drad werw 53
Sr0a) . 808 A" 31y HREBERW

Options :
1 %« P=Wtan6

L T=P+W=0
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T =P*+W?

s T=P+W

Question Number : 86 Question Id : 544734886 Display Question Number : Yes Is Question

Mandatory : No

An object 15 moving with a constant speed along a straight-line path. A force 1s not required to

28 I fgcﬁédéf 28 DEVEL nr%i:meﬁ‘ &choenduotd, & Sod TS B3 BwAW
DABONASNG T?

Options :

increase its speed
. SGD DoTLILD

decrease 1ts momentiumn

Q;ﬁé A1 ottt
2. % &

change its direction
BIW ATCH 0D

keep it moving with uniforim velocity
20 DAAVE SBRVBT GotidIILd

Question Number : 87 Question Id : 544734887 Display Question Number : Yes Is Question

Mandatory : No
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A block B. Iying on a table. weighs ‘W’. The coefficient of static

friction between the block and the table 1s g Assume that the

cord between B and the knot 1s horizontal. The maximum weight

of the block A for which the system will be stationary 1

W arddn €A% &mé B &S & c%él&:. WY, &;53)653 .‘.ud>5 :gas fmgsa easa 1. B
RVES 088 06 T $82 DATOBEINTT &) ) G0, 4 NN
Goters A &mé cﬁnsb ﬁ&g Aol IV

Options :
Wtan 6

1.2 K

5 o uW tan @

uW+/1+ tan? 8

3. %

4 % uW sin 6

Question Number : 88 Question Id : 544734888 Display Question Number : Yes Is Question

Mandatory : No

The coetticient of restitution for a perfect elastic collision is
RoPS 8 g»::g DTS Qﬁ“éég“rﬁ eag A0

Options :

1.v 1
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Question Number : 89 Question Id : 544734889 Display Question Number : Yes Is Question

Mandatory : No

A cylinder of mass 12 kg is sliding on plane with an initial velocity 20 m.s™%. If the
coefficient of friction between the surface and the cylinder 15 0.5. before stopping. the cylinder

describes a distance of

12 kg go-3 00 s A0 20 m.s™! SIS w8 TendwAN 2608
PO, T S0 G D048 DR 0.5 008, AP0 LN ;’.‘g@éﬁbé RANGR)
HOIreIoR Ardam

Options :

1« 40m

5 % om

20m

10 m

Question Number : 90 Question Id : 544734890 Display Question Number : Yes Is Question
Mandatory : No
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A body of mass M 1s dropped from a height h on a sand floor. If the body penetrates x cm 1nto

the sand, the average resistance offered by the sand to the body 1s

M G373 (0 503 h 980 Aol DT 26 DT, S AWEY'S x em
ey T8 S0P BALE Seur Sokw AEE wedw

Options :

Question Number : 91 Question Id : 544734891 Display Question Number : Yes Is Question
Mandatory : No

A disc of mass 4 kg and radius 0.4 m is rotating with angular velocity 30 rad.s ™. When two
point-masses, each 0.25 kg. are attached on the periphery of the disc. at diametrically opposite

points, its angular velocity becomes

4kg 303 20008 0.4 m m5avgo o 28 %) 30 rad. s kot HAand SIS0,
0.25 kg o Bocd Dot G{orBoRM) HFAD AWS), TR :559365 ©othR S¢S 083, TR
E'dod St

Options :

1@ 24 rad.s™ !
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, —1
5 % 27 rad.s

- 21 rad.s™?!

- : —1
4% 10 rad.s

Question Number : 92 Question Id : 544734892 Display Question Number : Yes Is Question
Mandatory : No

If rotational inertia parameter of a body rolling down a rough inclined plane (of inclination 8
and height h) without slipping is given by f = I;/MR?. then time taken by the body to reach
the bottom of the inclined plane is given by

T8N 0 280k o h do AdrT &) TSV FSKE BB SRV
308 BESEW D008 f = Iy /MR? w000, T dodw aOS), EH) WPAKVNL
DY BORD AV FO

Options :

1 [(1+p)2h

e
| @ sin @

1 (1+ 8)2h

N g
t= ’
cos @ g
2. %
o 1 (1-B)2h
" sin# g
3. %
- 1 (1+ ()h
4% sin g
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Question Number : 93 Question Id : 544734893 Display Question Number : Yes Is Question

Mandatory : No

Ratio of maximum acceleration to the maximum velocity of a simple harmonic oscillator 1s

’:OCS@”J"U"%S Eogo aws), r‘i&f’.él S( 0900 00D d&a’én elaPeiv[) Di’qb@

Options :

1.v @

w
2

4332@

Question Number : 94 Question Id : 544734894 Display Question Number : Yes Is Question
Mandatory : No

A bob of 2 pendulum of length 0.5 m has a speed of 6 ms™" at its lowest point, Find the speed of

the bob when the string of the pendulum makes 60° with the vertical. (take g = 10 ms™%)

Argads g*’rﬁ:m 36 8 Sogan Haw 6ms . S'og Ted) 0.5 m eond S'odsn da
oS 60° Eai BRO) W, S'0g Hia0 Jod? (g = 10 ms™? SiwEod)

Options :

26 ms™ 1
1. %

— g
> V31 ms
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—3
3 % 13 ms

=1
4 % 1.3 ms

Question Number : 95 Question Id : 544734895 Display Question Number : Yes Is Question
Mandatory : No

The radivs of earth 15 about 6400 km and that of mars 1s 3200 km. And mass of the earth 1s
about 10 times mass of mars. An object weighs 200 N on the surface of earth. Then its weight on

the surface of mars will be

Zrad aﬂlgirgm) 6400 km 20805 ©omdLH a"é%“gm: 3200 km. e @03 SorTEE
B33 Sofh 10 0t e . 0 E0BBLA Qodh 8 Y LW 200 N. BoTELH s
TR DY) Jotd?

Options :

1@ 80N

, x 4ON

20N

8N

Question Number : 96 Question Id : 544734896 Display Question Number : Yes Is Question
Mandatory : No
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The gravitational field in a region is given by [ =57+ 127 N.kg™. The change in the
gravitational potential energy of an object of mass 3 kg when it 15 taken from the origin to a
point (8m, —2m) 15
28 Frodns’ S £84w Deod [ =51 +12] N.kg™ rm aspiod. 3kg o
Q;ﬁlgﬂ"%‘:i} Aare Doty Aod (8m, —2m) Dotded) DG TN RRDDE &8 S
a0os); A G 386" ATy

o
Options:
1% 1J

, w1617

48 1

Question Number : 97 Question Id : 544734897 Display Question Number : Yes Is Question
Mandatory : No

i s i o ~ % — =3 "
ts ds5s ) ¢ e = = '
A particle of mass ‘m’ 1s under an nfluence of a force F k x + F, . The particle when

disturbed will oscillate

woan F = kX +E @8 m $5(0°3 (o) Seacd Derdddo BODRGAEA. 8 S5
SBDINE 08 Sk EvTw

Options :

: k
About x = 0 with @ = i;

k
x =0 D™ w = \/; EdoDd JroDd[ed

1. %
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Aboutx =0 with w = ’%

x =0 D™ w = \/% Eedah rpRged
2. %

a . k
About x =— with w = |—

m

F k
x = f DG w = ’E Eriod Foxdjed
3.¢

F, : ﬂ k
About x = -k with w = |—
k m

F, k
:t’:? D0 w *+ |[—

— Erdapd Foapged
4, %

Question Number : 98 Question Id : 544734898 Display Question Number : Yes Is Question
Mandatory : No

One thousand small water drops of equal radii combine to form a big drop. The ratio of final
surface energy to total mitial surface energy 1s

AR a‘*ﬁgmj tfo 1000 &) D8 Docwdayen 92 28 3 Do HODR). Bowd,
Q0B 3v 388, Do §9 s 388 o Ayyd

Options :
1% 1000 : 1
) % 1:1000
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Question Number : 99 Question Id : 544734899 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): At critical temperature. surface tension of liquids become zero.

Reason (R): At critical temperature. mtermolecular forces for liquids and gases become equal.
Thus, liquids can expand without restriction.

D8 (4) : o8y &S 56 S0BHS A B:YRod
66w (R) : Dol agga 36 G0 00ak0 TOSNHVES’ Bodd VDY LT
AT eEraw. GTren BB Fhor TE DTN

Options :
Both A and R are true and R is a correct explanation for A

_— A S08akw R Godor 28 900a). R, A £ 2800w D56

Both A and R are true but R is not a correct explanation for A
5 % A 50805300 R Bodir 28 @000, R, A 55 289008 D066 5o

A 1s true. R 1s false

- A D0 0008, R 26 o068 57¢

A is false. R 1s false
. A 20600 R 20 20080 5°0)

Question Number : 100 Question Id : 544734900 Display Question Number : Yes Is Question
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Mandatory : No

50 g of copper is heated to increase its temperature by 10 °C. If the same quantity of heat is
given to 10 g of water, the rise in temperature is (spectfic heat of Cu = 420
T.kg™1.°C™* and specific heat of water is 4200 J.kg~*.°C™%)

50 g A o e 10 °C 267 508 SEBFaw. ©F &) 10 g 308 @), o
e d3e" Db (o D30 420 1.k g™, °C™" SoBos 8 DITH0
4200 Lkg™t.oc™h

Options :
1. % 6°C

,  10°C

Question Number : 101 Question Id : 544734901 Display Question Number : Yes Is Question
Mandatory : No
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Match the following?

Column I Column IT
(1)  Conversion of liquid nto solid 1s (a) Regelation
(1) Conversion of liquid into vapor is (b) Sublimation
(1) Conversion of solid into vapor directly i (c) Fusion
(iv) Melting of ice cansed by pressure is (d) Vaporization
306 T 2AHGHG.]
S0 I 0w 1
(1) @9 Do :Jm“g;'.lmﬁ‘ RS Ardo) (a) t."mgbaja:;o
(i) @580 38T Ardoe (b) &ébé&‘)m
(i) D08 AT BT AT () 2oNFdDo
(iv) CdAD Beb ot SHHLE (d) erayBddo
Options :

- (i—e);, (fi—d); (ili—=b), (iv—a)
- (1i—a); (ii—c);, (lii—d),; (iv—b)
- (i—¢), (ii—d), (iii—a), (iv—>b)

(i—d), (ii—b), (iii—a), (iv-c)
4. ®

Question Number : 102 Question Id : 544734902 Display Question Number : Yes Is Question
Mandatory : No
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In a given process, for an ideal gas, AW = 0 and AQ < 0. Then for the gas.
8 e.ec’adg T0508) daked’ AW = 0 &80k AQ < 0 eond, & T o) ohos),

Options :
The temperature will decrease

| &%ﬁ{je‘j B

The volume will increase
2VARDSATCEIAN D3R

The pressure will remnain constant

i e DA :[gcsmn» Eodoa)
3.

The temperature will increase
&gﬁ(jej Foloblg bt b)

Question Number : 103 Question Id : 544734903 Display Question Number : Yes Is Question
Mandatory : No

One mole of a gas at a pressure 2 Pa and temperature 27 °C 1s heated till both pressure and

volume are doubled, What is the temperature of the gas?

2 Pa SHEdan 36 6030 27 °C &8 3¢ 28 AP TaRoPRL DI T Hedan
LBk 20RHBATRAL Bilory BaD] S0 SABFAD. & TaWY 6 &ddD Jod?

Options :
1 % 300K

, » 600K
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, x 900K

1200 K
4.

Question Number : 104 Question Id : 544734904 Display Question Number : Yes Is Question
Mandatory : No

What causes the formation of beats i sound?

cﬁsf‘:}@“ Q”rbn}od;r*e.n den}c:e.:“bé o650 D7

Options :
Dispersion
R EDE

1. %

Reflection
DTG0

Refraction

 H8BHDAD
3. %

Interference

;35@5693.:1.13
4.

Question Number : 105 Question Id : 544734905 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

If the ratio of amplitudes of two mterfering waves 1s 4 ¢ 3. then the ratio of maximum and
Immum ntensity 1s:

{9500 BoBID) Dot BBorZ0L o DODSL Ay 4 1 3 Lawd 162, $3Y
S0 306 0 iy Doss?

Options :

1.3%16:18

18 : 16
3.\?,49:1

4w 9411

Question Number : 106 Question Id : 544734906 Display Question Number : Yes Is Question
Mandatory : No

Two electric dipoles of moments p and 27 p are placed in opposite direction on a line at a
distance of 24 cm. The electric field will be zero at a point between the dipoles whose distance

from the dipole of moment p 1

p 08akn 27 p gzt (1o Botd Dmlgé BEyTo 24 cm GFGA0E" 2,8 ©Ea0 DD
;559363,3 &30 Gotrdd. 8IS 5w N6 3‘.!::&356 RN O wqm@mﬁ .8
Doty BLE)D grso p Aol Dotk Grdesd’ Gotod?

Options :
1. b cm

5 % 5cm

3. %
AP EAPCET 2021
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10 cm
4
—cm
4, % 13

Question Number : 107 Question Id : 544734907 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Two condensers of same capacity are connected first in parallel and then in series.
The ratio of resultant capacities m the two cases will be 4: 1

Reason (R): In parallel. capacity increases and in series capacity decreases

AB\S80 (4): 28 BF 8 (1) Botdd SoGd\D ANCE VATESEANTRY, ST 368 &'dr
SRUDBIETOD. Do HodsTmy0e” HB 3o Ay 4:1

S0m0 (R): 2Arodt RoErdwe” 5306 D Sodakn §:3e" eBbRRYE 33 B
Options :

Both A and R are true and R is a correct explanation for A
| % A 20Boin R Goklr ROCDAD. 08030 R 938 A S DBAD D568

Both A and R are true but R is not a correct explanation for A
) A 508030 R Sodr R8GDHAD, SO R 038 A & 28D DHGE SPED

A 1s frue. R 1s false

L ARDILIG, 5 R 28 ¢

A 1s false. R 1s true
4 % ARD S, 5 R DOGDIG

Question Number : 108 Question Id : 544734908 Display Question Number : Yes Is Question
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Mandatory : No

A uniform electric field of 500 V.m ™! is directed at 30° with

AY
the positive x-axis as shown in the figure, The potential B
difference (V5 — V) if 0A =3 mand OB =5m s g T
To] B T

500 V.m™" 80 $D0 2.8 D63 Dekofd S BTy s-x A" Lase T

= amaal T e
0508 HOANEG" PSS D0 30° Eradn S B, : 0_ *
0A =3 m H8atn 0B = 5m wowd (V3 -V,) =

Options :
| v —250(3V3+5)V

250(3V3 +5)V
—250(3+5V3)V

250(3 +5vV3) V

Question Number : 109 Question Id : 544734909 Display Question Number : Yes Is Question
Mandatory : No

In a potentiometer experiment the balancing with a cell is at length 250 cm. In shunting the cell

with a resistance of 2 (), the balancing length becomes 125 cm. The internal resistance of the cell 1s

w8 f)“é}.;]}o?xrhmd) OEAAS” 28 2003 VohVD T 250 cm. EPAS DAToBET
2.0 ABGA0 908 Rodowd TEY) 125 cm. LAY 03.\::5% woéalﬁf Qa0
Options :

1'&,2!1

4 Q)
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4. 10

Question Number : 110 Question Id : 544734910 Display Question Number : Yes Is Question
Mandatory : No

The coil of a moving coil galvanometer has an effective area of 4 X 1072m?. It is suspended
in a magnetic field of 5 X 10 wbm ™2, If the deflection in the galvanometer coil is 0.2 rad

when a current of 5m4 is passed through it. then

28 SOF Sl g o) Sricot) TR 4 X 107 m’. & Sty
5% 107 *whm* o) ot F3:08° JrdBobui g, muuSmh:eng‘:) SR (Dot
SmA DES B DodIYYE TR B30 0.2 rad wo0d

Options :

Torsional constant is 8 X 107> Nmrad ™1
DATEID %}U"QS;&D 8 x 107> Nmrad™1

Current sensitivity is 40 rad A~1
ToE 20y e 40 rad AT

ity

2. ¢

Torsional constantis 3 X 10 Nmrad ™!
DAreD NTeSAw 3 X 10 *Nmrad™

Current sensitivity is 40 deg A™!
DT 0 B 40 deg A1
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Question Number : 111 Question Id : 544734911 Display Question Number : Yes Is Question

Mandatory : No

A square frame of side 1 m carrying a current ‘I” produces a magnetic field ‘B’ at its center.

The same current is passed through a circular coil having the same perimeter as the square. The

magnetic field at the center of the circular coil1s B’. The ratio of 7 5

1m om0 $9A 28 BANTTE B0 Mot 1" & DS Dot 307 D Fogsiwy
3¢ ‘B’ e BODFY, 08 £S5 2D tod DBATRS 58AD DS DITeFo
SBOFTG ) DBOS AT DOB SO 2.8 JTG B ok ot PFDIB. &

B
'ﬁoﬂéﬁaoﬁ& DAL Gofo 6 BAEDD Eﬁoii}.ﬁ"boeﬁ £850 B' wowd, — =
. £ o B

Options :
8

1% T

Question Number : 112 Question Id : 544734912 Display Question Number : Yes Is Question

Mandatory : No
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A rectangular loop circuit has a sliding wire PQ as shown p
in the figure, The loop 1s placed in a magnetic field ‘B, 1 |
perpendicular to its plane. The resistance of the wire PQ 1s | <
R. If the wire moves with constant velocity *v’, then find . l: Ki—t .
the current flowing through the wire PQ? | i |

¢

03006 P 28 BY BRI Uty Suoin
OB Off PO & $BH &) 8. P w8 LaD) o8 £ 38 LAV G, P(
&n DG R. &4 PQ %)ﬂérib.nﬁﬁ E0008008) & B0 D3arold DS

Options :
Blv
3R

Blv
2R

3Blv

2Blv

Question Number : 113 Question Id : 544734913 Display Question Number : Yes Is Question
Mandatory : No

The current 1n an inductor of self-inductance L = 40 mH 1s to be increased vmformly from 2 4

to 12 A m 8 ms. The emf induced in the inductor during this process is

L=40mH ’rcsoﬁ)o‘;;déé §0RD 28 & tﬁ)éa.ge.'i(' 3@56 DiTerdn 8ms & DE68S 2 4 Lol
12 4 8 2008, 08 JANER VS o
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Options :
1.« 50V

L 04V

L% 40V

, « 100V

Question Number : 114 Question Id : 544734914 Display Question Number : Yes Is Question
Mandatory : No

In an AC circuit containing only capacitance. the current

300 3ranb & $9A &) w8 AC JuoHanes’, DES HITHW

Options :

leads the voltage by 180°
STL 7y 180° 200064 Gotnod

remains 1n phase with the voltage

Segeaa" &55e5° otod

leads the voltage by 90°

Se5 ST 90° B0y &otwod
3. 2

lags the voltage by 90°

. So2 ST 90° DRVE Gotod
4, =
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Question Number : 115 Question Id : 544734915 Display Question Number : Yes Is Question
Mandatory : No
Assertion (A): Electromagnetic waves exert pressure. called radiation pressure.

Reason (R): This 1s because they carry energy.

D388 (4): Dekojes0, 08 BGorien $of Babo DESEVLL 3oL Botrd.
5680 (R): DodBdIT o 389 82089 T,

Options :

Both A and R are true and R is a correct explanation for A
A H08ain R Godor 280DAD. 00030 R 998 A & 2BCDD DDH6e

Both A and R are true but R 1s not a correct explanation for A
A S0Bain R ot RBGHAD, SO R 038 A & DBV D5GE ST

A is true, R 1s false
A 2BEDHO, 0 R 08 5o

A 1s false. R is true

4 % ARD S S R2OGHHG

Question Number : 116 Question Id : 544734916 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): The colour of radiation does not change on passing through different media.

Reason (R): The media do not absorb or emit colous.

R\ B20 (A): B A5 TT DRIV 2Dy DECRW T8, orld SEe.
000 (R): QrSan Gorukd §im S arrew Sand.

Options :

AP EAPCET 2021
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Both A and R are true and R 1s a correct explanation for A
A 208030 R Godor 280DAD. <0030 R 998 A & 2BCLD D568

Both A and R are true but R is not a correct explanation for A
A 58050 R Gotir HOIHHD, SO R 0938 A & H8a0 Dt s

A 1s true. R 1s false
A 28a058, 0 R 00 576

A 1s false. R is frue

, x AROT® 5°2 R 28a058

Question Number : 117 Question Id : 544734917 Display Question Number : Yes Is Question
Mandatory : No

Tonization potential of hydrogen atom 1s 13.6 eV. When hydrogen atoms in ground state are
excited by a supply of 12.1 V. the number of spectral lines emitted by hydrogen atoms

according to Bohr's theory is

TEBD DOAPEY) A0E), BOHISHER 380 13.6 e/ a:mgvmaeﬁﬁ &) TEES
HoArmPHW 12.1 eV 38 B edadan Bobecd. wond &°6 i:rg’oej:m 25°0:3,
TEBD DOITMYL BS STTEA Babadd SeHLBHY voRf

Options :

1.332

2.v 3
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Question Number : 118 Question Id : 544734918 Display Question Number : Yes Is Question
Mandatory : No

Fusion reaction is mitiated with the help of
oGS 20O WE[ FCoDoritIS EDS0BE DH?

Options :

Low '['Elllp erature
88 5 a6

High temperature
DS D A (S

Neutron
mégé

Any particle

n BT SE50

Question Number : 119 Question Id : 544734919 Display Question Number : Yes Is Question
Mandatory : No
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In the circuit shown for the given mput voltage V;. the maximum output voltage V, 1s:

S0 WP VLIRS’ V; 630 ID$D SGE wawd, 168 s Sga ¥

Options :
1.% OV

2.v 2V

Question Number : 120 Question Id : 544734920 Display Question Number : Yes Is Question
Mandatory : No

The process of mcreasing the strength of a signal using an electronic circuit 15 called
W HVOITD) EDArAoL) Doddo TINE), WEr) Doid HIOLRL Dotrd?

Options :
Amplification

280
1.+ @
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Modulation
;ﬁrmﬁﬁﬁﬁ

2. %

Demodulation
- arci:éﬁ“q5
3. ®

Attenuation

4w R0

Chemistry
SectionId: 54473418
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 121 Question Id : 544734921 Display Question Number : Yes Is Question
Mandatory : No

Which of the following atoms. in its ground state. has the highest number of unpaired electrons?

308 DEATELHVS’. T e;irg“m:éﬁ OS[BS 20D JFTH £DADG 28?2

Options :

Chromium [Z = 24]
gaoote [Z = 24]
1. ¢

AP EAPCET 2021
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Iron [Z = 26]
206 [Z = 26]

Manganese [Z = 25]

20D [Z = 25]
3. ®

Vanadium [Z = 23]

) o D0Gabo [Z = 23]

Question Number : 122 Question Id : 544734922 Display Question Number : Yes Is Question

Mandatory : No

Calculate the mass of an elementary particle. which 1s accelerated to twice the velocity of light with the

precision + 1% and has 1.05 X 10™* m uncertainty in position. (h = 6.6 X 107* kg m? s7%)

+ 1% \3e08 28 S Stio, 08 S 0oiy) Hriod’ Bidtio BoBotiwdId. TN gv:aoe‘i‘
330 1.05 x 107 m eowdd o G030 08 osot? (h = 6.6 X 107 kgm? s™%)
Options :

—27
|« 8341077 kg

, » 0.0083 kg

L x 083X107% kg

=28
4 o 0.08%107%° kg

Question Number : 123 Question Id : 544734923 Display Question Number : Yes Is Question
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Mandatory : No

Among the following. which transition in the Hydrogen spectrum would have the same

wavelength as Balmer transition. n = 4 ton = 2 in He spectrum?

Het 56 D aog), ernb 386" n = 4 o 1= 2 & 1030 208 Deodd
S a1g), SGoMBEBS DTS00 SCoMBERL) FES J6 DAY’ 0add
806 IS HBorsodn?

Options :

| % n=-3 ——n=1

sy M=3 ——n=2

3 % n=—4 ——sn=1

i — 2 ——¥a—1
4.

Question Number : 124 Question Id : 544734924 Display Question Number : Yes Is Question
Mandatory : No

Arrange N. S. O & F 1n order of decreasing electron gain enthalpy

N. S. O H8030 F o a8 DO T ;}oc;rb;)e.u RlgValy S203065° wmﬁaod

Options :

LJF:.*S}O;}N
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S5>0>N>=>F

Question Number : 125 Question Id : 544734925 Display Question Number : Yes Is Question
Mandatory : No

Which of the following statement 1s incorrect?

208 T°5° DA HB oI S EL?

Options:

A cation 1s smaller than an anion if they are 1soelectronic
SOOI, BA0IFD V) JVTT SQK)E) 9003 SIS ) BT &otwok

Out of P?~, 527 & C1~,CI™ ion is larger in size
P37,5% & CI7, 08", €17 00:a70d08” 266

All transition elements are metals
©0) DOJGD rvsTen &SFen

The ionic radii of lanthanoids in trivalent state decrease with increasing atomic numbers.
DEATE Do) HAMELSE Jtr BRodiras %@@Grﬁ)é‘l&?‘bﬁ;ﬁ_&. Ol OIrdS

m}gé“ﬁ:mm Srzron
o n

Question Number : 126 Question Id : 544734926 Display Question Number : Yes Is Question
Mandatory : No
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Which element among the following is most probable to have the following values?

308 JHreseee’ O Arosan & Dendod DR dodrvdy?

AH; = 419 kI mol ™!
A;H, = 3051 kI mol™?
AegH = —48 kImol™

Options :

v K

4w Cl

Question Number : 127 Question Id : 544734927 Display Question Number : Yes Is Question
Mandatory : No

Which pair among the following does not have the same bond order?

20d T°65° D 2 CINE), LIOGEITET L VITDo 577

Options :
. %« CN & NO®

L« CN & CO

2_
L0 & B
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+ -
s v 0 & NO

Question Number : 128 Question Id : 544734928 Display Question Number : Yes Is Question
Mandatory : No

Arrange the following molecules according to decreasing order of their 0 — 0 bond lengths.
808 RS’ 0 — 0 wold Qgéo @fj g0

Options:
® 03 = HzOz b= Oz

5 H,0, = 03 = 0,

3 % Oz = HEOZ - 03

4 % OE o= Og }HEUZ

Question Number : 129 Question Id : 544734929 Display Question Number : Yes Is Question
Mandatory : No

Which of the following molecules has T-shaped geometry?
S08 rRHVS” I T- 88)d (v JT7) 0 SDH GooR?

Options :
PF;

1. %

BCl,
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IF,

NH,

Question Number : 130 Question Id : 544734930 Display Question Number : Yes Is Question
Mandatory : No

Which gas among the following is the easiest to Liquify?
& BHD ArDODRD T03PVS” BID RLBAVIT GAEBCEBIEN?

Options :

v S0,

h
2. % L

fq'lIng

co,

Question Number : 131 Question Id : 544734931 Display Question Number : Yes Is Question
Mandatory : No

Pressure of 1 g ideal gas X at 300K 1s 2 atm. When 2 g of another gas Y is introduced in the
same vessel at same temperature, the pressure become 1 atm. The correct relationship between

molar mass of X and ¥ 18

300K, 2 atm 60 38 1 g X oio s66\Taing) &) 8. ©f egﬁga 9629 Yo
366 ot & T’ DL ESAD 1atm 6. X ok ¥ rainge
Arrd GO(OPHI0 6] RGN NotloAn
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Options :

- My = 2My
5 @ My = 4My
- My = 4My
4 My = 5My

Question Number : 132 Question Id : 544734932 Display Question Number : Yes Is Question
Mandatory : No

The anhvdride of the oxoacid HOCI is

58150500 oS HOCI adng) I3 rgé

Options :
clo,

1. %

,  Cl20

. ClL0;

Cl,04

4, %

Question Number : 133 Question Id : 544734933 Display Question Number : Yes Is Question
Mandatory : No
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If the mole fraction of ethanol in a solution of ethanol in water 1s 0.050. then find the molarity

of the given solutioi.

28 9SS oIt IS S rridn 0.050 Bond, ¢ T as), o)
fiEotiae.

Options :
1 % 3.5 M

28M

L x L7TM

Question Number : 134 Question Id : 544734934 Display Question Number : Yes Is Question
Mandatory : No

Strongest conjugate base is
8 VAR Voo = O

Options :
1' 23 CE_
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Question Number : 135 Question Id : 544734935 Display Question Number : Yes Is Question
Mandatory : No

When the reaction A + 2B = 2C + D was studied. it was observed that the initial
concentration of B was 1.5 times that of A. and the equilibrium concentrations of 4 and C were

equal. Then K, for the given equilibrium equals

A+2B 2 20+ D o 96 5830t B aing) §8 mes 4 ang) §8 mees
1.5 380 e:;;lg,anrwm 2000w '&3&:"@‘%@ bg A. € O TPESW AT &é‘l@
(0ot ). 0N, & ’:amwfg@ awg), K, deod

Options :
1 % 4.1

, v 03

4% 18

Question Number : 136 Question Id : 544734936 Display Question Number : Yes Is Question
Mandatory : No

The % (%) of H,05 in 1.5 N solution 1s
4
15 N randnd’ Hy0, Gws), (7) B0
Options :

| % 3.6

, % 2.99
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3 @ 2,55

4 % 24

Question Number : 137 Question Id : 544734937 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): Covalent character follows: NaCl < MgCl, < BeCl, < LiCl.
Reason (R): According to Fajan's rules. covalent character of ionic compounds increases with

decrease 1n s1ze of cation.

Dy (A): fos2ocxrados gerisa: NaCl < MgCly < BeCly < Licl .
5600 (R): 2 dohare %Q‘é COUNERSRYC AL LAAr2dD AP0 T
SO 2BAPHS" SHEVS DM,

Options :

Both A and R are true and R 1s a correct explanation for A
A 208030 R Godior OGN, <0030 R 938 A $ 280D DH60

Both A and R are true but R 1s not a correct explanation for A
A 208030 R Sodr 2800, 50 R 0938 A & 280D D36 0

A 1s true, R is false
A 28EHHO, 0 R 06 576

A 15 false. R is true

L, ARBT®, == R 280056
4, #
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Question Number : 138 Question Id : 544734938 Display Question Number : Yes Is Question
Mandatory : No

AlCl; 1s an electron deficient compound but AlF; is not. This 1s because

AlCl; 28 QU°S S6drv D20 FdIW 59 AlF; 5°¢0. A8 6

Options :

Atomic size of F 1s smaller than €l which makes AlF; more covalent

. F b8 e, C1 H8rm 22 Sofd 859 sat) AlF; E}SJ&:: ARArBADES% DA Eotod
1 . £l

AlCl, 15 a covalent compound while AlF; is an 1onic compound
- AlCl; 2,8 pdoaradab "co;fué’#ama 008, AlF; w8 woirds ‘A:;S:y;fémo

AlCl; exasts as dimer but AlF; does not

. AlCl; Bgerginm Gotnod 5 AlF; BRrnssn ST

Al 1n AlCl, 1s in sp® hybrid state but Al in AlF; is in sP? state

AICL, & Al, sp® 04886845 BoB Gotod, 55 AlF; & Al, sP? H08BE6m50 Bt
4. %

Question Number : 139 Question Id : 544734939 Display Question Number : Yes Is Question
Mandatory : No

When graphite 1s subjected to an electric arc i the presence of mert atmosphere, it gives

a6 TEAdRaNg’ TS J6S errdd Mo 3 D

Options:
C7o as main product and Cgq in small quantities

DDAV Crp 0Bt 8 HBATeH0° Cgy
1. % > ]
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Cgo as main product and €5 1n small quantities
DA Cpp <0BOID § Q HBATEA0S” Cyy

Csp as main product and Cg, in small quantities
DTV Ccp 0803w § & 0B e:8065° C

equal amounts of Cgy and Coy
Ceo » Crp 2SI HBATEIS0LS

Question Number : 140 Question Id : 544734940 Display Question Number : Yes Is Question
Mandatory : No

The secondary precursors of photo chemical smog are

TPod Bra® Eﬁéﬁ AIE), VS0 PO

Options :
1% 502 & P‘J‘Gz

NO, & hydrocarbons
. NOy & TET 6D

. N0, & PAN

, o 03 & PAN

Question Number : 141 Question Id : 544734941 Display Question Number : Yes Is Question
Mandatory : No
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In an organic compound phosphorus 1s estimated as

T e9otiT ;50‘.13.&3315

28 S8, VA0 FZE" FED &) HOATEFS)S3WNT

Options :

“ Mg, (PO:I-}E

2. % PEGE

3 v Mg,P;0;

, = HaPO,

Question Number : 142 Question Id : 544734942 Display Question Number : Yes Is Question
Mandatory : No

A mixture of Dichloromethane and Aniline can be separated by

cEEDAS 2oatn 20w (0" D BOHITND

Options :
Distillation

iagcﬁab;ﬁm
1.+

Sublimation
&@D@ém

Crystallization

*rb:jeﬁSGm:m
3. 3
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Fractional distillation

e303S fascﬁ.é;ﬁn
4, %

Question Number : 143 Question Id : 544734943 Display Question Number : Yes Is Question
Mandatory : No

The electron transfer in the followmg conjugated system shows

S0t ATV Ro0darf) ;553‘%:956 DUTD 269 A ATV,

o
0
HHN/_.Z

G-~

Options:

—R effect
—R Hersdo

—1I effect
—1 DHerado

+R ettect
+R DHerdoe

+1 effect
+I DeFrdo
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Question Number : 144 Question Id : 544734944 Display Question Number : Yes Is Question
Mandatory : No

How many 1somers (cyclic and acyclic) are possible for a compound with molecular formula C;Hg0 ?
C3H0 @mb‘d}éw (10 D30} $0% ) oY 06w (Swah 2801w Jy3) 5‘@5:.03‘?

Options :

Question Number : 145 Question Id : 544734945 Display Question Number : Yes Is Question
Mandatory : No

For NaCl. the number of Schottky pairs per cm? at room temperature are
NaCl %yBgane” 16 eT'6s 3¢ 1 om® &'t i), ade Bopy dod?
Options :

1012

1. %

1023

2. %
10°

10*
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Question Number : 146 Question Id : 544734946 Display Question Number : Yes Is Question
Mandatory : No

A 0.6 % solution of urea (molecular mass= 60) would be isotonic with

0.6 % o5arBoir (eeagsi(o-3 60) mrdmod DY ASM ot Frideao

Options :

0.01 M glucose solution
0.01 M 8% mrodeasd

0.6 % solution of glucose
0.6 % (IrE'E Graeasdo

0.1 M KCI solution
0.1 M KCI gradeasdha

0.6 % KCI! solution
0.6 % KCl grdeasho

Question Number : 147 Question Id : 544734947 Display Question Number : Yes Is Question
Mandatory : No
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For a reaction
NO, + CO = €0, + NO the possible elementary steps (below 500K) are

slow

Step 1: NO, + NO, —— NO + NO;
Fast
Step 2: NO; + €O — O, + NO,

its rate expression will be

NO, + €0 = €O, + NO 0[5 055733008 e woden (SI0K 673)

Doy A
oty 1! N02 ‘I‘NO:E%‘ NO +N03

S
& B0 DODEGHID

Options :

rate = K[NO,][C0O]

- oy a8 = K[NOs][CO]

rate = K[C0,][NO]
o) Sedw = K[C0,][NO]

rate = K[NO,]?

eIoT] DI = K[NO,]?
3. ¢

rate = K[NO][N O]

o7 D63 = K[NO][NO;]
4, %

Question Number : 148 Question Id : 544734948 Display Question Number : Yes Is Question
Mandatory : No
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A saturated solution of KN 05 with agar-agar 1s used to make a ‘salt-bridge’ because:

Rody KNO; Trandndy enb-oi6 356 0 vdn T68 Sairddinis Tl .
ioglelx I W)
Options :

Size of K™ is greater than that of NO5

NO; pe ¢ K per 266

Velocity of NO, is greater than that of K =

NO; D620 K 3620 877) 266

. + i3
Velocities of K™ and NO, are nearly the same

K* 20805 NO,; © Srren ATE DA
3.¢

Both velocities and sizes of K* and N 0, are nearly the same

4. %

K* 208050 NO; © ecirds a“é&g.‘m, 2180080 AETPE) RSN

Question Number : 149 Question Id : 544734949 Display Question Number : Yes Is Question

Mandatory : No

Which among the following represents the expression for (3/4)™ life of 1% order reaction?

$o6 0" DB DA o8 e56[ g, % aPE RBTY w0

Options :

g ()
2303 2 \3
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2.303 3
e ()

2.303

log(4)
3. ¢

2.303

log (3)

Question Number : 150 Question Id : 544734950 Display Question Number : Yes Is Question
Mandatory : No

At high concentration of soap in water soap behaves as a

Qs madw ;5%:} "cama T e962:50085° ﬁamgj T 2000t

Options:

Multt molecular colloid

| % BTV ord Sorond

Associated colloid

zﬁyﬂﬁTﬁﬁéEﬁfab&

Macromolecular colloid

L, DTS e &eorand
3.

Lyophilic colloid
. oarHdS Serané
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Question Number : 151 Question Id : 544734951 Display Question Number : Yes Is Question
Mandatory : No

Among the common mineral acids. H,50, 1s less volatile due to

DIz Bros” H,50, 6505 it $dA ot fo s*6raw

Options :
Hydrogen bonding

TERD L0GAD
1.

Vander Waal's forces
SHotd Tred eeren

Disulphide linkages
GRT\E VT

Strong bonds
DR LoTen

Question Number : 152 Question Id : 544734952 Display Question Number : Yes Is Question
Mandatory : No

The geometry and dipole moment of H,S respectively are

H,S es5y® 208050 BEDS grisnssm

Options :

Angular and Non-zero

v 3ot 28030 BPRIBL 57 Dewd
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Angular and Zero
E'rdaian S0B0K0 HPDA0

Linear and Zero

i} B0 20dasN BIRLED
3.

Linear and Non-zero

. DAL S0Ba BREEL 57 Dewad

Question Number : 153 Question Id : 544734953 Display Question Number : Yes Is Question
Mandatory : No

The angular shape of the ozone molecule consists of

LED w8, Y Jout) Do7) 830 20 2DA eotwod.

Options:

1 ¢ and 1 i bonds with bond angle 109°
1 0 0803 1 7 wogren, oSt 109° &

2 ¢ and 1  bonds with bond angle 117°
2 0 H08031 1 T omre, odste 117° &

2 o and 2 7 bonds with bond angle 120°
2 0 208030 2 T orre, wodSte 120° &

1 ¢ and 2 m bonds with bond angle 60°
1 g 08030 2 1T L3oFeD, toidE o 60° &
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Question Number : 154 Question Id : 544734954 Display Question Number : Yes Is Question
Mandatory : No

In f-block elements. orbitals are progressively filled by the electrons
f-er§ Sorvsed” €58, 8740y SVIIT JVSTDVSE VoD

Options :

w3 &4
, o 4 &5f

L« 5F & 6f

6f & 7f

Question Number : 155 Question Id : 544734955 Display Question Number : Yes Is Question
Mandatory : No

Carnallite in water dissociates to give 10118

$°6) 565 DOS” Dairdan Bod Wy LAITeD

Options:
K*, Mg*™ & cl”
1.¢
K'Y, Mg** & Br
2.%-5

. kKt ™ & cl
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+ +2 =

, Ba

Question Number : 156 Question Id : 544734956 Display Question Number : Yes Is Question
Mandatory : No

Match the following

Tvpe of Protein Their Properties

(1) Hydrogen bonding

(a) Fibrous
(1) Water soluble

(b) Globul (111) Spherical shape
) Globular

(iv) Disulphide linkage

S0 TP 2SHGGC

TS 80 T8 vgnsan
5 ot (1) &2 Lot
| (i) D S8R

&) Hes (1) Avesdan

(iv) & POYE Boghaw

Options :

- (a—1i),(a—ii),(b—iii),(b—1iv)

- (a—i),(a—iii),(b—ii),(b—iv)

(a—i),(a—iv),(b—1ii),(b—iii)

3. ¥
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4% (a—ii),(a—iv),(b—1i),(b—iii)

Question Number : 157 Question Id : 544734957 Display Question Number : Yes Is Question
Mandatory : No

The correct order for imcreasing reactivity towards Sy 1 substitution for the following compounds is
Syl D8Z05RS" o R 90 B 300 DA $20308" ARG

(i) CH,CH,Br

() CHy=CH-CH(Br)CH,

(ifi) CH, = CHBr
(iv) CH; — CH(Br)CH,

Options :

L D) < (@) < (i) < (iD)
o x M <@ < ()< i)
3« (i) < () < (@) < (V)
4 (iii) < (i) < (iv) < (i)

Question Number : 158 Question Id : 544734958 Display Question Number : Yes Is Question
Mandatory : No
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Identify the suitable reagent for the reaction given below:

&risd tf}d]g 2680085 STHLDD tﬁU"éE«"’fﬁSSﬁJ} AT N

0 OH
I m? |
H;C—C—CH; ——— Hgﬂ—fli-CHa
CH,

Options :
- [CHE]ZCHMgBr

5 ¥ CH;MgBr

3 % (CH3),CMgBr

, » (CHg),CH—Br

Question Number : 159 Question Id : 544734959 Display Question Number : Yes Is Question
Mandatory : No

Identify the reagents 4 and B in the following reaction

8D 565" A, B 0@ (botsed

(B) (4)
CH;CH; < CH;COOH CH,CH,OH
Options :
1 % A=HI/redP & B = LiALH,

A=Ni/A & B=LiALH,
2. ®
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_ A=Pd/Bas0, & B=Zn/HCl
3.

, A=LiALH, & B=HI/redP

Question Number : 160 Question Id : 544734960 Display Question Number : Yes Is Question
Mandatory : No

When phenol is treated with bromine water. the white precipitate formed 1s

DTS, B 0D 2008 136] TodIYE DY BIFI0 VGYER. B BIEDo

Options:
3:
3,

dibromophenol
G a0 aTe

5-
B-

2,4, 6- tribromophenol

2,4, 6- S5 ArdTS
2. =

2, 4- dibromophenol
2, 4- G ATOTS

2- bromophenol
2- e5° AT reS
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